SM7THE 6 H1 HBE (o Ad : HRA+HSEN)

K5HT4 LR i 1 (A) | i [Z2 (B) Jk | &t (A+B) Pk
[ 2,551 8 2,810 7 2, 885 1 5, 695 8
JHIFTHT — T H 1, 105 0 1, 004 2 838 -1 1,842 1
e | 627 -8 576 -5 569 -1 1, 145 6
TR =T B 682 1 710 2 670 1 1, 380 3
JIFTETIY T H 487 1 501 3 524 0 1,025 3
TR T B 355 3 363 0 338 3 701 3
TR ST B 311 -1 375 0 385 -2 760 -2
oy 219 0 205 1 215 1 420 2
=) 384 0 443 1 453 0 896 1
THH 2, 007 0 2,018 4 2,121 -1 4,139 3
PITHT 345 -4 333 -5 328 -2 661 -7
HH B H 952 -1 1, 007 -2 985 -1 1,992 -3
HE—TH 285 4 336 -1 391 2 727 1
AT — T B 352 -2 424 0 432 -3 856 -3
HiT =T H 521 2 661 2 631 1 1, 292 3
I T H 303 2 404 1 390 0 794 1
3 235 0 255 -1 246 ) 501 -3
WY = 303 5 351 4 328 1 679 5
=YK 448 -1 453 -1 462 -1 915 )
=Y KB — T H 0 0 0 0 0 0 0 0
=V AKRHHE " TH 32 0 43 0 43 0 86 0
CIEL 113 0 121 0 121 0 242 0
— Y ARHTH 6 0 7 0 6 0 13 0
KH» B 702 4 870 5 859 ) 1,729 3
R4 4,191 16 4, 405 12 4, 623 6 9, 028 18
IR 4,183 5 3, 778 -8 3, 879 12 7,657 4
HEE—TH 464 1 431 1 470 -1 901 0
T T H 715 3 760 3 792 2 1, 552 5
TR B 1,473 -2 1, 538 -3 1,591 0 3, 129 -3
) 8 0 11 0 10 0 21 0
HLHE—TH 959 5 797 3 951 3 1,748 6
ErtR_TH 1,142 -7 1, 068 -3 1,163 -3 2,231 -6
= LR =TH 885 4 763 —4 861 5 1, 624 1
=LA TH 724 1 684 -2 721 0 1, 405 -2
= LRATH 727 -1 741 -3 666 0 1, 407 -3
HELERENTH 0 0 0 0 0 0 0 0
e T 2, 004 -6 1,951 -8 1,835 -8 3, 786 -16
Ny E— T H 311 2 313 1 321 2 634 3
Ny T H 253 0 252 0 251 0 503 0
Ny =T H 448 -1 436 -1 459 1 895 0
N FEPUT H 798 1 698 1 815 2 1,513 3
Ny T B 459 4 492 1 515 8 1, 007 9
AT — T H 256 1 287 3 321 1 608 4
T — T H 611 5 570 -1 634 4 1, 204 3
mEE=TH 192 0 175 0 229 0 404 0
2 34, 128 44 | 34,420 9 | 35,327 28 | 69, 747 37




